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Worksheet-13


Student Name ________________

1. Rank these four objects in increasing order of potential energy, beginning with the smallest.
	Object A
	Object B
	Object C
	Object D

	m = 5.0 kg 

v = 4.0 m/s

h = 2.0 m
	m = 10.0 kg 

v = 2.0 m/s

h = 3.00 m
	m = 1.0 kg 

v = 5.0 m/s

h = 5.0 m
	m = 5.0 kg 

v = 2.0 m/s

h = 4.0 m


2. Which of the following statements are true about mechanical energy? Include all that apply.
a. The total amount of mechanical energy of an object is the sum of its potential energy and the kinetic energy.
b. Heat is a form of mechanical energy.
c. The mechanical energy of an object is always conserved.
d. When non-conservative forces do work, energy is transformed from kinetic to potential (or vice versa), but the total mechanical energy is conserved.
e. A bowling ball is mounted from a ceiling by way of a strong cable. It is drawn back and released, allowed to swing as a pendulum. As it swings from its highest position to its lowest position, the total mechanical energy is mostly conserved.
f. When a friction force does work on an object , the total mechanical energy of that object is changed.
g. The total mechanical energy of an object remains constant if the only forces doing work on the object are conservative forces.
h. If an object gains mechanical energy, then one can be certain that a non-conservative force is doing work.
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3. An arrow is drawn back so that 50 Joules of potential energy is stored in the stretched bow and string. When released, the arrow will have a kinetic energy of ____ Joules.
	a. 50
	b. more than 50 
	c. less than 50 


4. A platform diver weighs 500 N. She steps off a diving board that is elevated to a height of 10 meters above the water. The diver will possess ___ Joules of kinetic energy when she hits the water (g=10m/s2)
	a. 10 
	b. 500 
	c. 510 
	d. 5000 
	e. more than 5000 .


5.A ball is projected into the air with 100 J of kinetic energy. The kinetic energy is transformed into gravitational potential energy on the path towards the peak of its trajectory. When the ball returns to its original height, its kinetic energy is ____ Joules. Do consider the effects of air resistance
	a. less than 100
	b. 100
	c. more than 100

	d. not enough information given
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